
ebk;L^S/thebk;L^S/thebk;L^S/thebk;L^S/th    
e[Zb nze L^ 100 

                    ;wK     L^ 2 xzN/ 
BBBB ïN L^ jo Gkr N L^ jo Gkr N L^ jo Gkr N L^ jo Gkr dk dk dk dk jo gqPB eoBk io{oh j? .jo gqPB eoBk io{oh j? .jo gqPB eoBk io{oh j? .jo gqPB eoBk io{oh j? .                    
                2H jo gqPB fJZe Bzzpo2H jo gqPB fJZe Bzzpo2H jo gqPB fJZe Bzzpo2H jo gqPB fJZe Bzzpo    dkdkdkdk    jjjj ït/rk .t/rk .t/rk .t/rk .    
                3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ uko uko uko uko GkrkA GkrkA GkrkA GkrkA ftZu tzfvnk ftZu tzfvnk ftZu tzfvnk ftZu tzfvnk frnk j?frnk j?frnk j?frnk j?, , , , fJ; soQk jo ft;a/ d/ fJ; soQk jo ft;a/ d/ fJ; soQk jo ft;a/ d/ fJ; soQk jo ft;a/ d/ 
22225555    nze jnze jnze jnze j ïDr/ gqPB Dr/ gqPB Dr/ gqPB Dr/ gqPB objective jBjBjBjB....    fJ; bJh T[Zso fJ; bJh T[Zso fJ; bJh T[Zso fJ; bJh T[Zso th ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK EïV/ V/ V/ V/ 
Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .    
    ft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynk                                    

                                        nze L^nze L^nze L^nze L^25252525    
1H  ;G s' tZv/ rqfj dk BK fby'. ?     (1) 

2H  Xosh d/ wkvb dk BK fby' . ?     (1) 

3H  bhg d/ ;kb ftZu feBQ/ fdB j[zd/ jB. ?    (1) 

4H  ;zx'b fejV/ fIbQ/ ftZu j? <      (1) 

      T) o'gV n) fco'ig[o J) cohde'N ;) b[fXnkDk    

5H  r[gs ekb B{z Gkos dk fejVk :[ZZr fejk iKdk j??   (1) 

6H  uzdo r[gs w'ohnk d/ r[o{ dk BK eh ;h <     (1) 

      T) joP toXB n) ukDfenk J) w'jBdk; ;) f;ezdo 

7H  t?fde ekb ftZu ;G s' gftZso fe; Bdh B{z ;wfMnk iKdk ;h ? (1)  

8H  p[ZX Xow d/ ;z;Ekge e"D ;B ?     (1) 

9H  gfjbk u"b Pk;e e"D ;h ?      (1) 

10H gf;nkG{sh tz; d/ gqf;ZX oki/ dk BK dZ;' ?    (1) 

11H pZu/ dk w[Ybk ns/ gfjbk ;wki fejVk j? ?   (1) 

12H gzukfJs d/ w[Zyh B{z eh efjzd/ jB ?     (1) 

13H Xosh dk T[g rqfj fejVk j? ?     (1) 

14H ;{oi fe; fdPk ftZu fBebdk j? ?     (1) 

15H ;wokN nP'e B/ efbzrk s/ ed'A fiZs gqkgs ehsh ?     (1) 

16H d' ;wkBzso o/yktk ftZu d{oh jw/Pk fej' fijh j[zdh j? ?  (1) 

17H ;kvk okPNoh gzSh fejVk j? ?     (1) 

18H Gkos ftZu e[Zb feB/ oki jB?     (1) 

19H eh gjhJ/ dh y'i B/ wB[Zy dh ;jkfJsk ehsh ?   (1) 

20H nP'e B/ fe; :[ZZX fgZS' p[ZX Xow B{z ngDkfJnk ?   (1)  

21. fejVk rqfj Xosh d/ ;G s'A B/V/ j? <    (1) 

22H rb'p dk ;G s'A tZvk uZeo fejVk j? < BK dZ;'   (1) 

23H i?B Xow d/ gfjb/ ;z;Ekge e'D ;B <    (1) 

24H gzikp ftZu e[Zb fezB/ fIbQ/ jB <     (1) 

25H jVZgk ;fGnsk d/ fe;/ fJZe Bro dk Bkw dZ;' <   (1) 

 

Subject :English 

Marks: 25 

1.  What did the lord give the dog ? 

     a) The gift of being faithful     b) The gift to run.       

     c) The gift of grace.      d) The gift of a sharp eye. (1)   

2. Fill in the blanks with correct words from the brackets.  



    a. Give me _____ telephone numbers.  (there /their) (1) 

    b. The hunter ran after the_____.  (dear /deer)  (1) 

    c. Our school ____the match.     (won /one)  (1) 

     d. I ____ the answer to all the questions.  (new/knew) (1) 

     e.  I had to ________ for many days .        (wight/wait) (1) 

3.  Fill in the blanks with proper articles  

     a.  I am ________  best player of hockey . (a,an,the)  (1) 

     b.  Mr. Ram lal is _______ doctor.    (a,an,the) (1) 

     c. We should help ________ poor .             (a,an,the)  (1)   

4.  (a) Fill in the blank with the past tense of the verb in the bracket. 

        1.  The dog ______ all night.         (bark)                       (1)  

        2.   The police _____ the thief.      (catch)  (1) 

        3.   I _______ to the school .          (go)    (1) 

        4.   We ______ our lunch and _____ to play. (eat/go) (1+1)                              

       (b)  Underline the verbs in the sentences. 

        1. The bus reached late.     (1) 

        2. I live in Delhi.      (1) 

        3. We eat together .     (1) 

       5. Where did Jasjit and Harpreet live ? 

 a) in a town  b) in a city   (1)    

 c) in a village  d) in a garden  

      6)  Underline the common noun in the following sentences . 

 a) This is a long distance train.    (1) 

 b) A fish lives in water and not on land.   (1) 

     7) Give adverb of the following people. 

 a) Patients   b) People    (2) 

    8)  Give plural of following  

 a) Boy   b) Box     (3) 

 c) Glass  

    
ft;ak L^ rfDsft;ak L^ rfDsft;ak L^ rfDsft;ak L^ rfDs    

                                                                  nze L^nze L^nze L^nze L^25252525 

    1H ;G s' S'Nh g{oB ;zfynk fby' <                                   (1)      

 2H 352 ï  (370 ï 37) dk w[Zb gsk eo' <                   (1) 

 3H ^32 dk fBog/y w[Zb gsk eo' <              (1) 

 4H ;G s'A S'Nh nGki ;zfynk fejVh j? < 

    T) 1 n) 2    J) 0 ;) 5        (1) 

 5H 5555 B{z gqshPs ftZu pdb' <                  (1)      
    4                  

 6H i/eo d' iK d' s' tZX uZeok dk fJe jh fpzd{ e/Ado j't/ sK  

    T[jBK uZeoK B{z _______ fejk iKdk j? <                         (1) 

 7H i/eo fJZe fpzd{ ftZu' fszB iK tZX o/yktK ikD sK T[j o/yktK ________ 

       j[zdhnk jB <                                                   (1) 



 8H i/eo fsqG[I dk fJZe e'D 1000 dk j't/ sK T[;B{z eh efjzd/ jB<   (1)  

 9H uZeo dh ;G s' tZvh ihtk ________ j[zdh j? <     (1)  

 10H fJe torwhNo ftZu _______ tor ;?Hwh j[zd/ jB <    (1)  

                                                                                                                                                                                                                     

 11H 500 o[L dk 2# ;bkBk do Bkb ;XkoD ftnki gsk eo', i/eo ;wK  

     3 ;kb j't/ <                                                (1) 

 12H i'V gsk eo'  7a+2b  ns/ 3a-4b .        (1)  

  13H 3H5 ;w bzpk o/yk yzv fyu' <       (1)  

 14H 70º dk g{oe e'D gsk eo' <       (1) 

 15H fe;/ fse'D d/ d' e'D 35º ns/ 55º jB . sh;ok e'D gsk eo' <   (1)  

16H w[Zb gsk eoo (^5)3 H        (1)  

17H 32 ns/ 56 dk wH;HtH gsk eo ï H       (1) 

18H r[DBcab gsk eo ï < 

     (^125) % 31%(^8)        (1)  

19H ;wheoB jZb eo ï < 

      Y+8=9          (1) 

20H i/eo yohd w[Zb 500 o[L j? sK t/uw[Zb 450 o[L j't/ sK jkBh dZ;' 

    fezBh j't/rh <         (1)  

21H gfjbhnK 5 nGki ;zfynktK fby' <       (1)  

22H 715%820 dk w[Zb gsk eo' <       (1)    

23H 15,20,30 dk bH;Ht gsk eo' <             (1) 

24H 72 d/ nGki r[DByzv pDkT[ <       (1) 

25H 1500 dk 15# gsk eo' <        (1) 

ft;ak L^ ftfrnkBft;ak L^ ftfrnkBft;ak L^ ftfrnkBft;ak L^ ftfrnkB    

nze L^nze L^nze L^nze L^25252525    
1H  j/m fbfynk ftZu fejVk ibh g"dk j?L^ 
    T) ewb, n) r[bkp, J) wNo, ;) ;o" (1)    
2H  Xks B{z izr brtk fejVk gfotosB j?< 
    T) Xhwk gfotosB  n) nktosh gfotosB   (1) 

      J) G"fse gfotosB ;) fJZSs gfotosB 
3H  ;{oi rqfjD fe; fdB brdk j? <     (1) 
    T) g{oBwkPh         J) n?stko      
    n) wZf;nk            ;) PBhtko 
4H  nke;hiB sZs dk eh ;ze/s j? <     (1) 
     T) C             J) O 

       n)   O3           ;)  H2O 

5H  wB[Zy dk fJZe goihth j? <      (1) 
    T) nwhpk           J) n?AN^nwhpk 
    n) chsk feow       ;)T[Zbh 
6H  fgqEth dh ;G s' nzdobh gos B{z eh efjzd/ jB <   (1) 
     T) w?NAb          J) rbkca  
     n) g/gFVh         ;) e"o 
7H  wB[Zyh ;oho d/ T[; nzr dk BK dZ;' fijVk bj{ r/Vdk j? < (1) 
      T) fdb            J) jZE 
      n) fdwkr          ;) r[odk 
8H  j/m fbfynk ftZu' fpibh dk ;[ukbe fejVk j? <   (1) 
       T) opV           J) gbk;fNe 



       n) gkDh           ;) beVh 
9H  skg dh fJekJh eh j? <      (1) 
    T) e?b'oh             J) i{b 
    n) feb'^e?b'oh       ;) gk;eb 
10H  dkbK ftZu w[Zy s"o s/ j[zd/ jB <    
 (1) 
     T) ekop'jkJhvq/N;     J) yfDi 
     n) ftBkfwB           ;) gqq'NhB 
11H  tk:{wzvb ftZu BkJhNo'iB dh gqshPs fezBh j?<   (1) 
      T) 72  n) 80 

      J) 78  J) 68 

12H  ftNkfwB  'c' dh xkN Bkb fejVk o'r j[zdk j? <   (1) 
      T) ;eoth        J) nzXoksk 
      n) p/oh^p/oh      ;) frbV 
13H  fezB/ skgwkB s/ gkDh T[pbdk j? <    (1) 
           T)  Oº C            J)  94.6ºC 

           n) 100º C          ;)  100º F 

14.  fejVh r?; pbD fefonk ftZu ;jkJh j[zdh j? <   (1) 
        T) nke;hiB               J) jkJhvo'iB 
        n) ekopB^vkJhnke;kJhv  ;) nkorB 
15H  fejVk :zso skgwkB wkgB bJh tofsnk iKdk j? <  (1) 
         T) bhto   J) p?o'whNo 
   n) pheo  ;) EowkwhNo 
16H  wB[Zy dh S'Nh nKdo dh bzpkJh fezBh j[zdh j? <   (1) 
    T) 50 c[ZN         J) 20 c[ZN 
           n) 20 whNo ;)50 whNo 
17H  g'fdnkA ftZu jo/ ozr d/ gdkoE B{z eh efjzd/ jB <  (1) 
        T) gZsk   J) eb'o'fcb 
     n) sBk  ;) iVK 
18H  rohB jkT[; gqGkt g?dk eoB tkbh r?; dk eh BK j? <  (1) 
           T) ekopBvkJh nke;kJhv J) T[i'B 
     n) nke;hiB      ;) jkJhvo'iB 
19H  fgqEth dk nkeko fej' fijk j? <     (1) 
   T) r'bkeko  J) ugNk 
   n) fse'B  ;) nzvkeko 
20H  wk;No nzdofo;kth rqzEh j? <     (1) 
   T) n?vfBb   J) fgN{Jhoh 
   n) b{Zpk  ;) EkfJokJhv 
21H  nkgksh e'D s/ gfotofss e"D dk nkg;h ;pzXh j?  (1) 
   T) S'Nk j?  J) tZvk j? 
   n) pokpo j?  ;) pj[s tZvk j? 
22H  ;{oi wzvb d/ fezB/ rqfj jB <     (1) 
    T) 7  J) 8 
    n) 6  p) 9 
23H  ;wkB ;?bK d/ ;zrmB B{z eh nkyd/ jB <    (1) 
    T) rqzEh   J) T[sZe  
    n) sDk  ;) iV 
24H  gqek; dk fJZe r[D dZ;'<      (1) 
25H  dhtko xVh dhnK ;{JhnK dh ukb fe; fe;w dk gfotosB j?< (1) 
      

    

    

    

    

    

    



    

    

    

    

ebk; L^ ;Zsthebk; L^ ;Zsthebk; L^ ;Zsthebk; L^ ;Zsth    

e[Zb nze L^ 100 
                    ;wK     L^ 2 xzN/ 
BBBB ïN L^ jo Gkr dk jo gqPB eoBk io{oh j? .N L^ jo Gkr dk jo gqPB eoBk io{oh j? .N L^ jo Gkr dk jo gqPB eoBk io{oh j? .N L^ jo Gkr dk jo gqPB eoBk io{oh j? .                    
                2H jo gqPB fJZe Bzzpo dk j2H jo gqPB fJZe Bzzpo dk j2H jo gqPB fJZe Bzzpo dk j2H jo gqPB fJZe Bzzpo dk j ït/rk .t/rk .t/rk .t/rk .    
                3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ 3H  g/go B{z ftfPnk d/ nXko s/ uko GkrkA ftZu uko GkrkA ftZu uko GkrkA ftZu uko GkrkA ftZu tzfvnk frnk j?  fJ; soQk jo ft;a/ d/ tzfvnk frnk j?  fJ; soQk jo ft;a/ d/ tzfvnk frnk j?  fJ; soQk jo ft;a/ d/ tzfvnk frnk j?  fJ; soQk jo ft;a/ d/ 
25 25 25 25 nze jnze jnze jnze j ïDr/ gqPBDr/ gqPBDr/ gqPBDr/ gqPB    objective jBjBjBjB. . . . fJ; bJh T[fJ; bJh T[fJ; bJh T[fJ; bJh T[Zso Zso Zso Zso th ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK Eth ;jh brke/,ykbh EK Go e/ iK EïV/ V/ V/ V/ 
Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .Ppdk ftZu jh fdZsk ikt/rk .    
    ft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynkft;akL^ ;wkfie f;Zfynk                                    

          nze L^25 
1H  skgwkB bJh fejV// g?wkB/ tos/ iKd/ jB <    (1) 

2H  toyk fezB/ gqeko dh j[zdh j? <     (1) 

3H j/m fbfynK ftZu'A fejVk Xksth yfDi j? <    (1) 

    T) ;bco  n) npoe  
    J) fig;w  ;) sKpk     (1) 
4H  wko{Eb fezB/ gqeko d/ jB <     (1) 

5H  e[dosh pB;gsh s' eh Gkt j? <     (1) 

6H  gfjbK wB[Zy B/ feZE/ ofjDk P[o{ ehsk <    (1) 

7H  pdb fezB/ gqeko d/ j[zd/ jB <     (1) 

8H  pkpo B/ fdZbh s/ epik edA' ehsk <    (1) 

9H  nepo d/ ekb d/ fJZe gqqf;ZX ;zrhseko dk BK fby' <  (1) 

10H  Pqh r[o{ r'fpzd f;zx dh B/ ykb;k dh ;EkgBk ed' ehsh ;h < (1) 

11H  pkpo dh w's ed' j'Jh <      (1)    

12H es[pwhBko fe; oki/ B/ pDtkfJnk <    (1) 

     T) w[jzwd r'oh     n) fgqEth oki u"jkB   

     J) oIhnk ;[bskB    ;) e[spdhB n?pe    

13H  e'Jh d' shoE ;EkBK d/ BK fby' <     (1) 

14H  gZbtk dh okiXkBh dk BK fby'  <     (1) 

15H Gkos ftZu fezB/ ;kb d/ ftnesh B{z t'N gkT[D dk nfXeko j? < (1) 

16H d' okiBhse dbK d/ BK fby' <     (1) 

17H gzikp d/ w[Zy wzsoh dk BK fby' <     (1) 

18H fejV// d/P ftZu ni/ th f;ZXk b'esszo j? <   (1) 

19H Pq'wDh nekbh db dh ;EkgBk ed' j'Jh <    (1) 

20H f;Zyk dk gqf;ZX shoE n;EkB fejVk j? <    (1) 

21H  ;z;ko ftZu fezB/ wjk;kro jB <     (1) 

22H T[so Gkos d/ d' gqw[Zy wzfdok d/ BkA d;' <    (1) 

23H wfjw{d rIBth B/ Gkos s/ fezBh tko jwb/ ehs/ <  (1) 

24H PkjijK d/ fgsk dk BK d;' <     (1) 

25H oIhnk ;[[bskB fe; dh g[Zsoh ;h <    (1) 



                  Subject :- English               Marks: 25 

1. The word ' desert' means  

a) Rain   b) Snow    (1) 

c) Sand   d) Earth     

 
2.) Change the Voice          

 a)  The peon rings the bell.                                   (1) 

b)  She sings a song.                                            (1) 

3.) Change into past continuous tense                        

 a)  Raja plays with his brother.                            (1) 

    b)  The peon rings the bell.                                (1) 

 5.) Use correct Degree 

  a)  Anita is ________ than Sita.                         (1) 

                                    (lovely, lovelier, loveliest,)   

 b) Meena is the ________ girl in her class.                            (1) 

              (Intelligent, more intelligent, most intelligent) 

6.) Change into negative 

a)   They went to Ropar .                                    (1) 

7.) Change the number                                          

 a)  The woman works in the city.                     (1) 

 b) The teacher tells a story       (1) 

8.) Change the gender 

a) His son is an actor.        (1) 

b) The hero was riding a horse.        (1) 

9.) Supply a helping verb. 

a) The police ______ investigating the case.                         (1)            

10.) Give the comparative and superlative degrees of:- 

a) Good          (1)  

b) Hard                                                (1)  

11.)  Form adverbs from:- 

 a) Bad          (1)  

 b) Happy                                                (1) 

12.)  Use a/an/the. 

a)  We should help _______ poor.                    (1)  

b)  Ram is ____ clever boy.      (1)  

13) Tick the correct prepostition. 

a) Do not be jealous (on/of) others.     (1) 

b) He writes many letters.      (1) 

14) Use A/An/the 

a) This is______ pen.       (1) 

b) ______ Taj Mahal is very famous.     (1) 

15) Fill in the blanks with conjunction. 

a). Ram saw me_____ didn't talk to me.   (but/and)   (1) 

b) I like soup_______ now in want to eat ice-cream. (but/and) (1)  



ft;ak L^  rfDs 
e[Zb nze L^ 25 

1H  ^22  B{z fwnkoh o{g ftZu fby'<      (1)    
     33 
2H  1  B{z xksh ;ze/sB ftZu fby'<     (1) 
   64 

3H  fejVh ;zfynk tZvh j? 3$4 iK 4$3     (1)  

4H  i'V gsk eo'         (1) 

    ^3  O  4 
     22    33  
5H  ;wheoD jZb eo'        (1) 

     7x-5=6x+4 

6.   eh 6,8,10 ;we'Dh fse'D dhnK G[iktkA j' ;edhnkA jB<   (1) 

7H  fe; ;zfynk dk 10#,25 j? <     (1)  

8H  fJZe us[oG[i d/ fszB e'Dk dk wkg 70º,50º,125º jB. 

    u"Ek e'D gsk eo'<        (1) 

9H  fe;/ th tor dk w[Zb f;ZXk eZY/ fpBK ;ob eo' <   (1)  

     522^492                                          

10H 25%27 dk w[Zb eh j?.      (1) 

11H noX uZeo ftZu ftnk; d[nkok pDkfJnk e'D fej' fijk j[zdk j? < (1)    

12H x2
 +6x+9 d/ r[DByzv gsk eo'<     (1)    

13H ftfrnkBe ;ze/sB ftZu fby' L^ 0.000045   (1) 

14H 3 ns/ 4 d/ ftZueko fJZe gfow/: ;zfynk fby' <   (1) 

15H 10000 jiko o[gJ/ dh 10# ;bkBk do Bkb 3 ;kbk dk  

;XkoD ftnki gsk eo' <       (1) 

16H fJe pkr 30 whNo bzpk ns/ 25 whNo u'Vk j? pkr dk  

y/socb gsk eo' <         (1)  

17H 3  B{z dPwbt ;zfynk ftZu fby' <                      (1) 
    8  

18H eh  7   gfow/: ;zfynk j? iK Bjh <     (1) 
        0  

19H (2$3) (^2bc) (7b
2
cd

2
) B{z r[DK eo' <     (1)  

20H 17  Pks dPwbt j? <       (1)  
     5   

21H fJZe usoG[I d/ fszB e'D 1200,800 s/ 1000 jB, u"E/ e'D dk  

wkg gsk eo'<         (1) 

22H  2    %  3   B{z ;ob eo' .      (1) 
        3             4 

23H  ihtk d/ fJe jh yzv ftZu pDkJ/ e'D fej' fij/ j[zd/ jB .   (1)  

24H  49  dk nz; ns/ jo gsk eo' .       (1)   
        67  

25H  3     ftZu xks nze ns/ nkXko gsk eo' .    (1)  
       4 

 



ft;ak L^ ftfrnkB 
nze L^25 

 
 1H eko dh j?Zv bkJhN ftZu fe; fe;w dk dogD tofsnk iKdk j? <    (1)   

 2H Hg  ;ze/s fe; sZs B{z gqdofPs eodk j? <      (1) 

 3H yZN/ d[ZX ftZu gkJ/ ikD tkb/ n?f;v dk BK dZ;ï <                     (1) 

 4H ;zd/P d/ shpo ;EkBKsoD ftZu fBT{okZB dh eOD ;jkfJsk eodk j? <  (1)   

 5H f;bto dk ;ze/s eh j? <         (1) 

     T) Au     n) Ag   J) S   ;) Si  

 6H fJZe j?eN/no ftZu fezB/ tor whNo j[zd/ jB <      (1) 

 7H fe;/ xDkt dk nkfJsB gsk eoB dk ckow{bk eh j? <     (1) 

 8H fwZNh d/ fBowkD B{z eh efjzd/ jB <       (1) 

 9H nS{s d/ fJe o ïr dk BK fbyï <        (1) 

 10H nkfJUvhB dh ewh Bkb fejVk o'r j[zdk j? <      (1) 

      T) foe/N; n) I[ekw J) ;eoth ;) frbV   

 11H fJe fbNo ftZu fezB/ xD ;?ANhwhNo j[zd/ jB <      (1) 

 12H fJe dqt dk BK dZ;ï fijVk skg dk e[ukbe j? <      (1) 

 13H id ïA ngksh feoB ;wsb dogD s/ bzp o{g ftZu NeokJ/ sK goktosB e ïD dk w[Zb fezBK  

     jït/rk <           (1) 

 14H fgqEth  ed ïA jïAd ftZu nkJh <        (1) 

 15H Xosh dh fezBh ;sfj gkDh Bkb YZeh jïJh j? <      (1) 

 16H id ïA s/ikp yko Bkb fefonk eodk j? sK eh pDdk j? <     (1) 

 17H o;kfJfDe T{oik d/ fejV/ ;qïs jB <       (1) 

 18H fejVh BkVh nt/rk B{z fdwkr se ;EKsfos eodh j? <     (1) 

 19H nfbzrh iDB ftZu fezB/ iDeK dh io{os j[zdh j? <    (1) 

 20H d ï gïPek d/ BK fbyï fijBK dk T[Zu ebïfoe w[Zb j? <     (1)  

 21H rb/ d/ T[; Gkr dk Bkw dZ;' fi; ftZu wB[Zyh nktkI g?dk j[zdh j? < (1)  

 22H nZy d/ o?NhBk s' fdwkr sZe ;zd/P e'D gjz[ukT[dK j? <              (1) 

 23H 20,000 joNi s' tZX nkftqsh tkbhnK X[BhnK B{z eh efjzd/ jB <   (1) 

 24H pkjobh fBP/uB dh fJZe T[dkjoD fdT[ <       (1) 

 25H gkDh ns/ ykD tkb/ s/b ftZu'A fejVk fInkdk ;zxDk j? <     (1)  


